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Qs 3/ SECTION - A
Eﬁﬁ_ﬂ. WY _/Objeclive Type Questions
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cted
Question No. 1 ta 40 heve four options, om of which only ane ix correct. You have (0 mark, your sele
(40x1=40)

option, on the OMR - Shect.

L SRR & T Rge aRew ¥ R ) @1 T -
(B)  uRaffa 78 €@ £ |

(A) .;-agTr-iﬁq & wirar &1
Dy T A A

(C) a'g?faaﬁmrzmmmﬁl

At the time of overloading. the electric curremt in the circuit -
() does not clbinge

(A) reduces substamtially
(D) none of these

(&) increnses heavily
2. @ - 9 W S Sl 27

(A) T HE {areaT) (B)  ERm Fal e

(C) o ia i &a M F A A A

Which is the conventional sonrce of energy?

{A)  Bio-Mass (I Nuclear energy source
(I None of these

(C) Geo — thermal energy source

3. vrEnFE i & <R frd awwd § sifwteE @ am s 2?2

(A)  9Egs By  Tumys

Ny DR D T W

The gain of oxygen by a substance during chemical reaction is clled -

(A) Reduction i Ovidat

dallon

C

(C) Corvosion (M None of these
2
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€ wfw found in plants?
Which one of he following isthe growth honmone f ine
A} Gibberellin - Al
‘ g
M Thyroxine
€ Inculin
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S B AR T &gy
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. | gaifeq |
© % % a O o Y ke Rg o
The resistance of A eonductor doeg ot depend op - http://www,hsebsmdy.com
A tengihof a conductor B crayeRetrionn req of fﬂ"dﬂflﬂr.
(€ Temperatyp, of 4 conductor (N Wikeetric Hment flowing throgg]
conductor
T O 1oy T e aron 2
LA . Wen m) g
© ey ™ e
Which gyt hs Surangam \murhnnwmg S¥stem?
(A) Himachy Prades (R Tami Nady
(C) !
: Kerala (m Karmt.lka
FHE A yrgy i g2
(A)
Hfom () Mt

(Y] Tetem

| -, RUEHCIRN
Which iy a plany hormopeo
A g B
{(C) Ocstrogen =

)
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© m 4
The maximum number of clectrons in a shell is -
(\) n? (B n?
i 4
9, 35 3 vim HYA A worm Ao o s s e e 87

©(A)  WFT P aed g W 1) o AT W

() AIR A iy gfe w=a W

Where does. the most of refraction for lght rays entering the cye, occurs?

(A) on the outer surface of comea {" on Lthe eye-lens

(i in aqueous humour (D) off the pesnl

10. 5 W eggeEa vaw W aiis &7

(A) o HEF M T
() WA o e
Which hydrocarbon is the simplest compound?

(A)  Mcthane (B Ethane
(C) Propane (M Butane

11, grgFsa ¥ yarg &1 w5 ar (@vl) afoE walor wver &2
(A) * @ (1 Alen
(€y g D)
Which colour of light scatters more in atmosphere?
(A} Red (B)  Blue
(C)  Yellow (D)  Orange
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:"hch one of the l’i.‘lk'tm; reprosents dway{ plant® ! "
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16. ﬁnﬁﬂmWMﬁ;ﬁmﬁg? W
(A) » EFW
Ici i (B) |
Which one of the following ; - i
HIowIng is a bige . :
(A)  Eathwor S hemaphrodie animayy
(©) Cat (n) l)ng
- (m
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The sptnal cord onginates from -

(A Cerehrum (B) Cercbellum

(Cy Pons 1Dy Mecdulla
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What is S1 unit of magnification produced by a lens?
(B) cn
{A) m .
©€)  mm (M) Unitless
R. wr smffres v e g -
(A) * 80 nm (") 100 mm
) 120mm () 130 mmn
The normal diastolic blood pressure is -
(A) 80 mm 11}] 100 mm
(€) 120 mm (D) 130 mm
2. ﬁﬁﬂ?’lﬁmmqmmmmwﬂt?
(A) Al (B) Na
© etu ) |\ e
Which metal of the following has the Jowt mielting oint”
(A) Al (B) Na
) Cu ) Fe
ZV TR T R [ 1 8y
W e M Cxom),
(©) < Caco,
What

M 3 g 18
8 the chemical formula for mMarhle?

:é; gﬁj M Caony,
) i None of these

25 mﬁqmﬁmﬂﬁ%%ﬂq&ﬂm\ﬂmmmt?

A) = Afm B oy Ry

©€©) o wrInTh Ny LU £ UL e

The canth iy shiclded by ozone layer from which hﬂ:;nful radiation?

A)  Infra-red

(B) Thermy)

(€©) Ul - violy ™ An of these
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k- ¥ /Non - Ob eclive e Question
EL——-——. SN _w¥A / Short Answer Type Questions
WMys ures / Physics
@ v 2
T W #awmmh:w#ﬁ#h wsmwm ﬁp e
(4x2=g
AR £/ )
Question No. 1 to 8 is short answer type. flmlu-rr any ¥ questions. Fach question carries 3
| ) ' (Ix2=§)
{2

1. M ® yrrd Prost @) fad

State the laws of refraction of light.
(2)

2 A A v R 3w 22

What is meant by power of acdommedation of the eye?

e, e wReal 3 i waom & sydm a0t w8 s o @2 (2)

b

Why is the series arrangement not used for domestic circuit?
2

4. yuten & wwa i wam ot gl g @7

Why does the sun appear reddish during sunrise?
5.ucma‘a1§an$1§f'hmcmmﬁmﬁﬁr;nmaﬁwﬁﬂmznéﬁqam (2)

v T 2| afifda @ Rufy, waf ok wisa e @R ¥

An object 5.0 cm in length is placed at a distance of 20 cm in front of a convex mirror of

radius of curvature 30 cm. Find the position of the image, ts nature and size. . -
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Mow does the \ky appear 1o 8i astronaut? e
A Dark
:C : R:I (D) None of these
wm«-mamngmmmmww ©
' I8
(A)  Um M@ -
o A s

() o [N amdg
How many honds are formed between the iwo vaygen atoms?
Double Bond

(A)  Single Bond (b)
None of these

(€)  Triple Bond (D)
0. M - g ey @ anR o7 e e A arar w87

(A) o WA (o) (B) WP

€ | () e

Which non - metal is found in liquid state at room, lemperure?

(A)  Mercury (8)  Bromine

(C)  Sulphur . (D)  Sodium
M. @ih o @ g amwnd -

(A) * wvirRn (B) 4 m W™

(€) T TS (D) §FAA™

The avtotrophic mode of nutrition requires -

(A) Chlorophyll (B) Sunlight

(C) Carbon dioxide . (D) All of these
3 PAdAvR-mamg £

A)  Zn (B) Ca

(C) o Ge M C

Which one of the following is a metalloid?

Ay Zn B) G

©  Ge M C
[212]D Page 1001 16
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(A\) =TA ym (B o IR qu
(C) qinn g

(m EE g

Which one of the tollowing is unisexual flower?
(A) Hibiscus Nower

. (B) Mustard flower
'( i- pl-lp:l_\'i.l n““ or

: 1)) Rose Nower
7. : N 3
W"*mmw‘ﬁfﬁum—wqumg-
(A) SIEAE |
. (B) ¢ 3rTT
! m T AR Al
Toothpaste for cleaning the teeth are generally -
(A) Basic b
©) Salty (") Acidic
] N
38, _<¢= (Alkanes) 1 Wm0 373 @ - one of these
L g
(A)® CiHa: B C.Hs
(C) C.Ha. D e
The general formula for an alkane is -
(A) CaHza.2 1B Culls,
[C’ C..":. i (4]} Cs":ll
3. A= R A S s med g aTers Bd 8
(A) waE odm (B) ITd i
(C) = Jyand et | LM F™ A mh
Which one of the following murors has positive focal length?
(A) Plane mimror ) Convex mimor
} he
(&) Concave mimor ) RRNEES
?
0. 3Ry - m @ S
(A) A i iy
) TR A
) gfas M0 -
i ‘ lean energ) sounT.
Which ane of the following 18 a clean encik By Wood
(A) Coal (D All of these
(C) Natural gas
a1 Page 110! 16
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29.

(A) T e~ |

Py NaHcCoQ, (B) @ Na:C0310H:0
iy C:aIOl{}; D) = ¥ 3 T8

{,\: chcm:ral formula for Washing soda is -

(C) C::ﬁ? ’ (B)  Na:CO;10H:0

THRT éR ﬁ,—ah (D) None of these

PHYRI® @ g g T &2 '
(A) 40N 48
() 60 W gg (B) 50 :: 58
: i (D) 709478
Within which PH range our body works ¢
(A) 401048
7.0 |
(A
) ° AT By "3
(C) fggy
. D =gt

What is SI unit of clectric charge?

(A) Volt (B) O

(C) Ampere (D) Coitonss
R aeta o ity ¥ a e § fygy M &2

(A) Ry s B) o Re@ wfa
€©) = M ARy
In which device, the split ring is used?
(A) Electric Motor (B)

Electne penerator
tm Galvanometer

TN B ] A anewTn TR0 A QR A won e g @
(A) 5 (B)

(C) Ammeler

6
() 7 ; D) o8
How many electrons are there in the outermost orbit of an atom of chiorine?
A s B) 6
(0 7 (D) 3
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cach other?
AR R i /Llong Ype g'
H /Lo Answer T Questions
T W g
mmwmmhm#wwwmﬂ
Q-r:ﬁnu.\a.!ndm o
! ‘ are long Answer T¥pe’ questions, Answer any one of th
| 4
’. i | (6x1=6)
mmmmmmlmmwmmmﬁmwm
R oo & 71 e 22

15

10. ﬁganﬂawfe?ﬁ:mﬂuﬂwaﬁﬂ.mmkﬁﬁgamlmtm

ﬁmmﬁ#ﬁril

What is electrip power? Derive H = PR, where H is the amount of heat produced by steady
cmunlﬂuoughuesismrainlimel.
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‘ach guertion carrie,
Uvertion No. 11 1w 17 is vhort aniwer ipe. Amwer any 4 genitions. e (dx2y
)
2 marky,

. ?
. e @ N 09 0 3 ke A yem aom ¢ W Raza 3o w0 A o
i it
Why dues the cokout of coppet sulfate wlutron hange when an i naul is dipped in it
2. wwr w®fdon 4 sm o avgh 2

What 4o you mean by a prectpitation reaction*

(A8 "‘HW-W#mmmmmdmmlp
Why acids dht e show aadic hehay ior in the sbwence of w atey ¥

o P02 B0 By g e, e
AV 1 e ey T S g &
B g et ) AT of & g SR v &)
Wate halanced clicrun o) equations for the reaction aking place w hen -
(AY  Dilute Sulphune acnd reacts with Zing
(B Dalute Hydna o acsd reacts with Magnesium nibbon,
18, urgﬁmaaamsﬁf&mwmlmmmt?
What happens when metals react with water?
16, mnﬂumimrk’mna‘aﬂmm;
What is humologous serics? Explain with an example.
7. (A wgromm @ sm o wugg g2
What Jo you mean by valency?
(B)  &fafigs #) warrEm R
Write the valency of Magnesium.

)

)

(2)

(2)

2

(2)

(2)
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N9 Answer Type Question
3
¥ viemy o My
19 i¢hy I gy 81 g1y m
Questions Np, N and 19 e oo oy ome 4/ (8x1=5)

fnlfau'lng. " .

18, M‘”‘m}ﬂi“l iy m

ar
¢ Lang Anvwe, Type

Questioms. Amwer any ane of the

. Maym U2 140 .

T o |

N A I gy N

iy oy v) e

1"-{

fv)  Qay

Wnite the sMructurg) formula g, the (]|

(1) Meil | M

cthane ) Ehane

(ini) Propane ) Bune

{v) Pemtane
19. Pty oY sipn 4~

)  wfym T e o 4 ”

tiiiy v liv) s bl wsfa

LT YA, W8T 1, {
ik ik mfﬂm ! m'
" nfas1® eradae s =
inc the following 1crms: kLl

() Mineral (i)  Ore

B mpe ) con BSEBResult.In

(v) Roasting -

e s &
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aﬂaﬁ‘ma/BLo_lm
VY 7% 20 & 26 g avdty orr #1 § @ B 4 ED B ger 21 odw B RY 2

Vo Pffn 2/ (o2=s)
Qwestion No. 20 ta 26 it short amwer type. Amswer any 4 questiony. Fack question carries
2 marks. (4x2=3)

)

20. a3 A7 e & o NAw amt)
Mention o differences hetueen *Artery’ and *Vem'.

2. wTEE gAgS 31 am Fm g2
Whar are the tunctions of digestive ensymes”

22 XU & A3 M 4t ST W w4 g 82
How are water and nunerals imnsported in plants?
3. 7% & TEsdR W vanw g @2
Huw does photottopiam oceur in plants?
247 Fm T @R W A 3 e
Draw a labelled diagram of female reprwluctive system
25 nn#mmﬁﬁﬁh'aﬁmmﬁfﬁ-tgﬂ-l!?
* Towdowe pet to hnow how old theTosilears?
26 IR wn A afy e B e e an (44

Why depletion of ozone Layer (s threal ta uy?

&Y ST 9%/ Long Answer Type Questions

TFT wo 27 st 28 ¥ oy ver ) gl B Bl 0w 9 o 2, (Sx1=3)

Uuestions No. 27 and 28 are long Amwer Type quations. Amiwer any oae of the
(Su)as)

Jollowing.
27. oF of¥m st (pta) A anefdn ween erge em 7 el m o o, 5

Draw the well labellod snnture of 8 neunss and evplain its fumnons
28, WY VEEA A7 00 eran ot fiy g og SUE aml 31 a3,
Draw a well abellal diapram of human resperateny svaiem and evplam it functaons
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